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General Instructions :

1. The question paper'comprises of two Sections, A and B. You are to attempt both the
sections.

o N @GR »N

2. All questions are compulsory

3. All questions of Section-A and all questions of Section-B are to be attempted separately.

4. Question numbers 1'to 3 in Section-A are one mark questions. These are to be answered in
one word or in one sentence

2.

Question numbers 4 to 6 in Sections-A are two marks questions. These are to be answered
in about 20 words each.

6. Quéstion nuimbers 7 to 18 in Section-A are three marks questions. These are fo be
answered in about 50 words each

7. Questiéfi numbers 19 to 24 in Section-A are five marks questions. These are to be
answered in about 70 words each.

8. Question numbers 25 to 33 in Section-B are multiple choice questions based on practical

skills. Each question is a one mark question. You are to select one most appropriate
response out of the four provided to you.

9. Question numbers 34 to 36 in Section-B are questions based on practical skills. Each
question is of two marks.
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UAT-37 / SECTION-A

1 T FEteRde, We iR s & quf ares e Am fatew) 1

Mention the site of complete digestion of carbohydrates, proteins and fats in humans.
gm.q[} finterine

2 S wie] wfae & o ot uw, Faeh e B S Al SR o e i w2 L
J How is the type of current that we receive in domestie-circuit different from the one that runs
a clock ? AC 4 DC
@ gedt F quiel & e aw T R e € 1

What are hot spots inside earth’s crust ? C’ o . ﬁu-,,& r‘r\—Cf

4 4y < TR Tt sfifEmell S St vemEtE e & ' fare - 2
v, O ST SeeTaTEe W tafatEm oo % Wy T e S S
(i) ST I A9 W SR (R S E

Translate the following reactions into balanced chemical equations :

(1) Manganese dioxide is heated with aluminium powder.
(if) Iron is treated with steam.
5 e feg e el R foem i _ :

o Na>COs, NaCl, NH,Cl, CH;COONa. 37 ¥ Tl oot o1 forerer
() A

(i)  SEEE A
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(i) & e ?
Consider the following salts :

Na»COs, NaCl, NH4Cl, CHsCOONa. Which of these salts will give
(1) Acidic solution
(ii) Neutral solution and

(iiiy  Basic solution ?

6 sifaa T 1 R TR wel €7 2

How does auxin promote phototropism?

7 1) & et rufmEed # v sl H R e 3
(i) In+ H,504 > ZnSO4 + H;
(i1) CaO+H;0 = Ca(OH),
(i)  CaCOy ——— CaO + Q03
Identify the type of reactions in each of the following reactions :
(i) Zn+H,S0, -> ZnS0, +Hy D Pip) an et

(it) Ca0 + H,0 > Ca(OH); Lewrdn ne TN

i)  CaCO; —2& 3¢a0 +CO;, el v ??TMW'E/

8 3ma¢[%ﬂ?Tﬂ'@qfﬁqTA,Bﬁmcé’rﬂ§%ﬁfrﬁwm;mﬁaw,m&ﬂﬂﬁmﬁaaﬂzﬂm3
\/ ﬁ?rqﬂ%laﬁmwwrﬁmﬁﬁmw%ﬁrmmwﬁﬁﬁmwﬁﬁ
TREA Y HOl7 '

You are provided with three test tubes A, B and C which contain distilled water, acidic
solution and basic solution respectively. If you are given blue litmus paper only, how will
you identify the contents of each test tube ?
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9 (@) st =ifirwi % FE 2 o7 fafed ) 3

(b) Wmmwmaﬁ@ﬁﬁasﬁaﬁﬁﬁ%wmw@ (Ufifrm
SR FAR 1 W] Hen w13 3i 17 8)

(a) Write any two properties of ionic compounds. '(1\\“!, ) [jg

(b) Show the formation of aluminium chloride by the transfer of electrons between the
atoms. (Atomic number of aluminium and chlorine are 13 and 17 respectively.)

95(_[}

10 (a) w@m%mﬁ%ﬁqmmwﬁqﬁw%ﬁmaﬁmg%aﬁhﬁmﬁﬂmm 3
g2 I ifdie ST 1 IeerE HfTT ey s W AtalE T it Tud O e sifufEa
R U Tt Sl sfiafiaen st wer ffed |

(b) Fﬁ%ﬁﬁaﬁﬁ&haﬁw%wﬁnﬁamﬁwﬁ%mﬁﬁﬁﬁwm@%aﬁ%
aﬁtmﬂmﬁﬁaﬁ%ﬁﬁﬁmqﬁaﬁmﬁmmﬁ?

(a) What happens when an aqueaus solution of sodium sulphate reacts with an aqueous solution
of barium chloride ? State the physical conditions of reactants in which the reaction between them

will not take place. Write the balanced chemical equation for the reaction and also mention the type
of reaction.

(b) What changes in the colour of iron nails and copper sulphate solution do you observe after
keeping the iron nails in copper sulphate solution for about half an hour.

11
SR el v S o S 8, W e o e we s 1Y e 2 ae g 3
Wﬁz‘wﬁﬁaﬁmyﬁm%ﬁﬁﬁ#ﬁﬁw%@ﬁg&aﬂmy_ B

20
T
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"As the blood sugar level in our body falls insulin secretion is reduced". Justify this statement
in the reference of feedback mechanism that regulates the timing and amount of hormone

released.

12 e B EfEa a1 T B wﬁf@QiWW@TWSW! 3

Name two hormones secreted by pancreas. Write one function of each.

13 fwziqvﬁgmwﬁﬁ%fa@ﬁaﬂmﬁﬂamﬁn 3

Draw a flow chart to show the breakdown of glucose by Var jous pathways.

14 fﬁﬁam?u.aﬂqfaﬁaaﬁéﬁmgmﬁmﬁﬁ?ﬁaﬁaﬁﬁgaHruamm e iee | 3
\{""
Yo
§ &

Find the current drawn from the battery by the network of four resistors shown in the figure.

30 SU

\\XSS/\-LL”.‘IHLE Mh < ,:._-‘-—-\rv'\f.l.-——-
G100 l

-,

& AN

\ L, JHoQ etk
il e .
o ' 4
T - = 5 {
——{:]r—-n—w—~—»—-——-—-——-1 (o 306 20 - L2,

15 forea <ok 1§72 %mmmﬁqﬁmmmwﬁaﬁﬁwﬁmﬁﬂm 3
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mm%,wﬁqauﬁwmaﬁc@@ﬁamqﬁwmﬁwww &5 T YEIH HifeIe |

What is an electromagnet ? Draw a circuit diagram to show how a soft iron can be changed

into an electromagnet by a solenoid. Identify the region in the solenoid where field is
uniform.

16 ﬁwmﬁwmﬁ%?mamﬁ—rﬁﬂnﬁsﬁwﬁa
5@1%%2%%%%%1@%&%%&%@%%%1

What is meant by electric current? Write its Sl unit. Calculatéthe amount of charge that flows
through a conductor when a current of 5 amperes flows through it for 2 minutes.

17 1 3 Ty 39 S W T § S Sy S € waﬂa%ﬂmaﬁwwaqtﬁmag‘?ﬁu 3
ST S TR AT ﬁm%é@rﬁﬁaﬁma@mﬁm@ﬂ—aﬁﬁﬁawﬁ%ﬁﬁuﬁﬁmﬁé‘ﬂ
wﬁ@ﬁ%mﬁwaﬁamsﬁw%aﬁﬁw@ﬁ,mwﬁaﬂmﬁﬁm@waﬁ
o ==t & | ﬁ?@ﬁ@ﬁﬁﬁﬁﬁﬁﬁﬂﬁéﬁ%ﬁﬁﬂ%ﬁ%ﬁ@ﬂﬂﬂ?@ﬂ?ﬁwmﬁﬁi
e GO Y ST HL | FH hA T 3 e & o Gt % sga v gen 1 ot fre vl
%E’ﬁ?‘cﬂﬁfﬁ,:

(i) frr 3 Taan o) ST O WX T ST ge?
(i) i o1 weg s S T e b w9

(i) ﬁﬂwﬁmaﬂﬁmﬂ@wwﬁ%ﬁiﬁaﬁ%ﬂwvmﬁmwéﬂ%@aw
ATfent % fore aReM e gl 7

Reena’s father works with a company that builds dams. Once he took her to the site where a
dam was being built. Reena saw a group of people sitting there and shouting slogans against
the building of dam. She talked to the group of people and asked them about their problems
and then discussed it with her father. She, then tried to convince the people to talk with the
authorities and come to an amicable solution. The discussion was successful. Reena’s father
was very proud of his daughter. Now answer the following questions :

(i) Why was Reena's father proud of his daughter ?
(i) ~ Why was the group of people protesting against the building of dam ?

(i) ~ Reena’s contribution to the peaceful resolution of the conflict proved a boon for many
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citizens of the country. How ?

18 mﬁﬂafmﬁaﬁqﬁqwﬁﬁaﬁ!wﬁmmﬁﬁﬁgﬁwﬁ@ﬁmwfﬁ@m 3

Define the process of nuclear fission. Write the steps involved in generating electricity ina
nuclear reactor.

19 (a) @ma@m@wﬁﬁmmﬁa{ﬁmmﬁawwm%r%ﬁmmaﬂ 5
I €2 wﬁ%mﬁm‘mmﬁ%ﬁmmwﬁﬁ STErgaeRaLer ?

(b) e e forer o e A 1 e FO WA T S T T ot ¥ ey Ao
foyera o G H w1 qieRA g ? ffir arffaran o TR S fafeTl

(a) An ore on treatment with dilute hydrochlorie acid produces brisk effervescence. What
type of ore is this ? What steps will be required fo obtain metal from the enriched ore ?

(b) A Copper coin is kept immersed in&ilver nitrate solution for some time. What change

will take place in the coin and colour. of théwsolution ? Write the chemical equation for
reaction involved.

20 mﬁwmaﬁ@#ﬁnﬁ%mwnﬂmmﬁ%w: 5
(@) foE T ﬁaﬂﬁﬁﬁ@?@wﬁnﬂﬁmw%i
(b) mwmmqﬁﬁwwwﬁnﬁﬁmw%t
WWW%WWIWWWHmW%ﬁWﬁ%WW
State the changes you observe when :
(a)  Lead nitrate powder is heated in a dry boiling tube.
(b) Ferrous sulphate crystals are heated is a dry boiling tube. Write balanced chemical

equiations.in cach case. Name the category of reactions in which you would place
these reactions stating reason.

21 WWHWWW@W{M@H%WWWW: 5

Draw a labelled diagram of human brain and mention the functions of the following :

Medulla, cerebellum and forebrain.
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22 (a)  forem o & At g 1w afaeE €1 UR S qrdg gue % 9 sy ke | 5
(b)  Torere =9l % dged & Faiv ¥yt A w1 @ SvEnT S e S 2
(©  Frdl 2 Q wfidiess | fa e 50 J 3o Seow @ @R wfdgw % f W faveaiw §e
I |

(a) What is meant by heating effect of electric current? Give two applications of heating
effect of current. '

(b) Explain why, tungsten is used for making the filaments of electric bulbs.

() 50 J of heat is produced each second in a 2() resistor, Find the potential difference
across the resistor.

23 @  FEa geEr R W g fafed | ow fea fafed fred O O = e s S sn S
Tehdl B

(b) UF Foel d IRT urr w1 ufimn sen sy da et fafed

(a) Define electromagnetic induction” and. state the law that helps in determining the
direction of induced current.

(b) Mention three ways to increase the magnitude of the induced current in a coil.

24 wrifer fos g U FRarhad i aviE aE < & ol i e e a9 T awE Ao S
T TF o ol 8, R Ferd § yanfed gr w5 faen agen | ad # R of Raffa e s d ) ww
o fafed i 5@ =) R ae 6 ¥ fav w&@m fear s )

Describe an activity withulabelled diagram to show that a force act on current carrying

conductor placed ‘in-a magnetic field and its direction changes with direction of current
through condtietor. Name the rule which determines the direction of this force.

C'M% TT-& / SECTION - B

25 @I 3 W Thad i Tk g% 1 Gl e foer w1 uh g | freman sk Yar e fs @ @ 1
s T fggmm w pH R o oww A @ wwaw ¥ oW

@ 0-3 (b)) 4-6 () 6-8 (d) 8-10
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Rehmani mixed one drop of universal indicator with one drop of a given solution and found
that a red colour is produced, pH of the solution would be in the range of :

@ 0-3 () 4-6 (© 6-8 (d) 8-10

26 pxqﬁﬁﬂ%ﬁﬁmmﬁﬁ@um@%— 1
(@) @& (b) W
(@ e (d) e
The first colour on the colour chart of pH strip from the top is
(a) Red (by  Orange
(©) Blue (d) Yellow
27 SR BE L I, 01 aen v A e 9 Ao @ & WY a3 HCl 9 NaOH 1 TeEfE 1
Frfufral = a%wmmﬁwﬁﬁﬁﬁaﬁmmaﬁwﬁﬁm Sran o Fermman TR €
HCl NaOH
Zn H, \ FTs AAfufsRan T
NaxCOs | e attashan Fai, | GOz
-
o)
n
Na,COs
(D)
HCl NaOH
Zn e AT el | He
NaxCO3 | CO2 1 FE A
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-

(1m)
HCl NaoH
Zn [ 1, H, "1
Na,COs | CO2 \Eﬁl‘s‘ ayfufsran el j
|

(V)
7 o T el T S WA, WY
(@ I (b) I (© I @ v

Four students I, II, III and IV studied the chemical reactions of dil HCl and NaOH with zinc
and sodium carbonate (Na;COs). They wrote thegas evolved if any in the boxes given, as
shown below :

HCl NaOH

Zn \ H» No reaction l|

CO:
O ?J

HCl NaOH

Zn H> [ T
|

Na-COs No reaction 1 cO; \

NaxCOs t\h reaction

l

m

HClI NaOH

n Noréaction ‘ Ha

Na:COs | CO2 No reaction

(1)

HCl NaoH
Zn \;H: \ Ha j
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Na;CO; | CO, | No reaction |

(1v)

The right set of observation is that of student -

@ I b T (© m (@ 1w

28 =1 9 & R sreft feram drdta 22 :
(a) FeSO, (b) ZnS0;
(c) Al(SO4)s (d) (b) 3R (C) =

Aqueous solution of which of the following is colourless ?
(a) FeSO, (b) ZnS0Oy

(©  AL(SO:)s (d)  Both (b)and (Q)
29 ﬁ?ﬁﬁ@%ﬁaaﬂﬁﬁﬁﬁ?ﬁif@ﬁqﬁwnﬁzz%ﬁﬁmﬁml T T % 9% I <@ fm 1

(@)  faerea ook g mn

(b) R I WS g e 3

(©) TR faerm s & i % ufafa o g

(d) ﬁ?@ﬁ@ﬁﬁ@lﬁtﬁ%aﬂaﬁamﬁéwqﬁgm

Disha took two ifon nails and put them in aluminium sulphate solution. After sometimes she
observed that

(a) the solution becomes warm
(b) grey-metal is deposited on the iron nail
(c) the colourless solution changes to light green

(d)  solution remains colourless and no deposition is observed on the iron nail.
>
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30 ﬁuﬂﬁsﬁﬁ&ﬁﬁﬁauﬁﬂaﬁRﬁﬂiﬂ;ﬁgﬂgﬁﬁmmm#uﬁmﬁ@wﬁvﬁ%aﬁmw 1

ofoqe W TRt L I8 uf{ger < ¢
E
/ T——_G“)‘ﬂ”\"‘x_
.'r,. £ A‘\‘"
MRCA.
.i 5;: (18]
| E
| i
p— Wg e O i 3

(a) vamﬁm%mlmmme

(b) mlmmmemvwmmm

© mlamﬁﬁmvﬁmuﬁq@ﬁ1

(d) amlams?ﬁmvaﬁmnaﬁm@m

In an experiment t0 find the equivalent fesistance of a series of corbination of two resistors Ru
and R, a student uses the circuit shown here :

Battery
climinator

The circuit will give :
() Correct téading for voltage V but incorrect reading for curre ntl
(b) . Correct reading for current I but incorrect reading for voltage V

(©) Corréct reading for both current I and voltage V
(d) Incorrect reading for both current I and voltage V

31 mﬂmﬁmmqﬁﬁ%ﬁaﬂg@uﬁﬁa aﬁmﬁ%u@mﬁww@d’m@ﬁaﬁtm 1
= e T T Shg =ed |

(a) 21 = e e o+
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32

33

(b) S @ 3 W R A |
(©) ST Y THRR H 9l oot @ gaeh @ Ao H |
(d) sy T T Sl sl SeeHer F ' F |

To perform the experiment of finding equivalent resistance of a parallel combination of
resistances, a student should join voltmeter and ammeter with the combination as :

(a) both in series with it
(b) both in parallel with it
() ammeter in parallel and voltmeter in series with it

(d) ammeter in series and voltmeter in parallelwitliit.

‘m@ﬁw%fmmm@mw%‘wmﬁqﬁﬁm Heaen S e @ee ;1
(a) T e T & W S 7T A

(b) 7 Ferifira @) ST ST Ry Averem B 51 & S

(©) FefEel B2 ST i g% ST whew A fae e €

(d) R |l 8

In the experiment to'show: that ‘light is necessary for photosynthesis’, the reason for boiling
the leaf in alcohol is+tor

(a) Killits cellsand make it soft
(b)  Bleach it sothat it stops photosynthesizing
(¢) * Remove chlorophyll as it interferes with the iodine test

(d) Actvate chlorophyll

‘W%a‘mcogsmﬁiﬁ@?ﬁ%‘aﬁ%f@ﬁaﬁ@zmmwmﬁ%! 1

-
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sixfia B st

(I11) )
(a) I (b) I () I (d) v

Choose the correct set-up to demonstrate that ‘CO is given out during respiration :
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KOH
solution

water germinating seeds water

(0 (a1

Cotton plug '
"‘-\-_,__‘: »

" KOH
solution

KOH
Vs solution

germinating seeds water germinating seeds water
(11L) (IV)
@ I by I © m (@ v

34 ﬁémﬂﬁﬁfmaaﬁ%%aﬁﬁﬁaﬁmmﬁmmwwm'é|ﬁérﬂ‘fﬁaw 2
1 8 T £ 2 SUe sifutmal o v S 3uE M At

1

A student obtains a white precipitate on mixing two different salt solutions in a beaker. What
could these two solutions be? Identify and name the type of this reaction.

f

35 %@ﬁq&rﬁﬂmﬁwﬁé’aam(l)ﬁtmuﬁfiw%ﬁqﬁmﬁww)mﬁﬁwmammﬁ% 2
for rwiferd afmer e ST |

Draw a labelled circuit diagram to study the dependence of current (I) on the potential
difference(V) across a resistor.

36 wmiaﬁmaﬁqﬂaﬁ%mmﬁmﬁﬁmﬁﬁm%ﬁmﬁﬁmﬁ 2
fera il 37 AW fafEa

Name the components which you will observe when you focus the stomata slide under high

power objective of a microscope.
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